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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-1 ( Subsidiary-1 ) 

ªJÙT«ˆUÔ Yy [ S-1 : Indian Economy (SEC-4) ] 
a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) \ˆÁÃ[˝„Tˆ \…ˆ◊]aeïıÁ„Ã[˝Ã[˝ LXÓ G c˜›Tˆ [˝Ó[˝ÿöˆÁm◊_ a+„EÔı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* \…ˆ◊]aeïıÁÃ[˝ Eı]Ôa…ªJÙ› Ã[˝÷YÁÃ^„SÃ[˝ 

Âl˘‰y [˝ÓUÔTˆÁÃ[˝ EıÁÃ[˝Sm◊_ =‰{F EıÃ[˝”X* 12 + 8 

 (F) \ˆÁÃ[˝Tˆ›Ã^ EıÃ[˝ EıÁPˆÁ„]ÁÃ[˝ È[˝◊`rÙÓm◊_ A[˝e y”◊ªRÙO a]…c˜ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 10 + 10 

 (G) \ˆÁÃ[˝„Tˆ ÂEı≥V–›Ã^ aÃ[˝EıÁÃ[˝ C Ã[˝ÁLÓ aÃ[˝EıÁÃ[˝m◊_Ã[˝ ]„W˝Ó 

Ã[˝ÁLÿëˆ [˝∞RÙO„XÃ[˝ Yà˘◊Tˆ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X*  

 (H) \ˆÁÃ[˝„Tˆ ◊Ã[˝LÁ\ˆ¤ [˝ÓÁ„·¯Ã[˝ @S ◊XÃ^‹óˆS aey‘Á‹ôˆ 

X›◊Tˆm◊_Ã[˝ Y“„Ã^ÁG a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) \ˆÁÃ[˝„Tˆ HÁªRÙO◊Tˆ %UÔaeÿöˆÁ„XÃ[˝ X›◊TˆÃ[˝ \…ˆ◊]EıÁ Y^ÔÁ„_ÁªJÙXÁ 

EıÃ[˝”X* \ˆÁÃ[˝Tˆ›Ã^ %UÔX›◊TˆÃ[˝ =YÃ[˝ AÃ[˝ Y“◊TˆE…ı_ 

Y“\ˆÁ[˝m◊_ =‰{F EıÃ[˝”X* 8 + 4 

(F) \ˆÁÃ[˝„Tˆ Yá˚[˝Á◊bÔEı› Y◊Ã[˝EıîXÁm◊_Ã[˝ ]…_ _l˘Ó C 

=„ï`Óm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e ÂEıX Y^ÔÁÃ^y‘„] 

Am◊_Ã[˝ Y◊Ã[˝[˝Tˆ¤X H‰ªRÙO‰ªK˜ Âac˜O a+„EÔı =‰{F 

EıÃ[˝”X* 8 + 4 

(G) ◊[˝`ü [˝Á◊SLÓ aeÿöˆÁÃ[˝ Y“„Ã^ÁGE ıTˆ X›◊Tˆm◊_ \ˆÁÃ[˝Tˆ›Ã^ 

%UÔX›◊Tˆ„Eı ◊EıÃ[˝÷„Y Y“\ˆÁ◊[˝Tˆ EıÃ[˝„Tˆ YÁ„Ã[˝ ? Ac˜O 

Y“a„Ü Am◊_Ã[˝ aïˆÁ[˝Ó %X«E…ı_ C Y“◊TˆE…ı_ 

Y“\ˆÁ[˝m◊_ =‰{F EıÃ[˝”X* 4 + 4 + 4 

(H) Yá˚Á„Ã^Tˆ› Ã[˝ÁL [˝Ó[˝ÿöˆÁÃ[˝ ]ÁW˝Ó„] \ˆÁÃ[˝„TˆÃ[˝ %UÔÍX◊TˆEı 

=~Ã^„XÃ[˝ Âl˘‰y ◊Eı\ˆÁ„[˝ ◊[˝„Eı≥V–›E ıTˆ %UÔÍX◊TˆEı 

=~Ã^X EıÁ^Ôy‘] HªRÙO‰ªK˜ Âac˜O a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 
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(I¯) \ˆÁÃ[˝Tˆ aÃ[˝EıÁ„Ã[˝Ã[˝ 1991 aÁ„_ ÂHÁ◊bTˆ ◊`îX›◊Tˆ◊ªRÙOÃ[˝ 

È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X A[˝e TˆÁ„VÃ[˝ ]…_ÓÁÃ^X 

EıÃ[˝”X* 8 + 4   

(ªJÙ) \ˆÁÃ[˝„Tˆ ]…_W˝X [˝ÁLÁ„Ã[˝Ã[˝ aeïıÁ„Ã[˝Ã[˝ LXÓ G c˜›Tˆ 

[˝Ó[˝ÿöˆÁm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) \ˆÁÃ[˝„Tˆ VÁ◊Ã[˝V–Ó Y◊Ã[˝]ÁY aey‘Á‹ôˆ ◊[˝◊\ˆ~ ◊c˜aÁ[˝m◊_ 

=‰{F EıÃ[˝”X* 

(F) \ˆÁÃ[˝„Tˆ E ı◊b FÁ]Á„Ã[˝Ã[˝ %ÁÃ^TˆX C ◊[˝y‘Ã^„^ÁGÓ =• „w¯Ã[˝ 

a+EÔı◊ªRÙO =‰{F EıÃ[˝”X* 

(G) \ˆÁÃ[˝„Tˆ Ã[˝äÁ◊X Y“aÁ„Ã[˝Ã[˝ `¿U G◊Tˆ c˜CÃ^ÁÃ[˝ EıÁÃ[˝Sm◊_ 

=‰{F EıÃ[˝”X* 

(H) \ˆÁÃ[˝Tˆ›Ã^ ]«V–ÁÃ[˝ ]…_W˝X› FÁ„Tˆ Ã[˝÷YÁ‹ôˆÃ[˝„^ÁGÓTˆÁÃ[˝ a«◊[˝W˝Á 

C %a«◊[˝W˝Ám◊_ ◊Eı ◊Eı ? 

(I¯) \ˆÁÃ[˝„Tˆ Yá˚[˝Á◊bÔEı› Y◊Ã[˝EıîXÁm◊_Ã[˝ [˝ÓUÔTˆÁÃ[˝ 

EıÁÃ[˝Sm◊_ =‰{F EıÃ[˝”X* 

(ªJÙ) \ˆÁÃ[˝„TˆÃ[˝ Ã[˝Ár—Ù›Ã^ =„VÓÁ„GÃ[˝ a]aÓÁm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(ªK˜) \ˆÁÃ[˝„TˆÃ[˝ ◊•Tˆ›Ã^ Yá˚[˝Á◊bÔEı› Y◊Ã[˝EıîXÁÃ[˝ ]„Qˆ_◊ªRÙO 

a+„EÔı ae„l˘„Y =‰{F EıÃ[˝”X A[˝e AÃ[˝ ]…_ÓÁÃ^X 

EıÃ[˝”X* 

(L) \ˆÁÃ[˝„Tˆ a[˝«L ◊[˝Y¿„[˝Ã[˝ LXÓ G c˜›Tˆ XT«ˆX E ı◊b 

ÂEıÏ`„_Ã[˝ È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X* 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the measures adopted for the 

purpose of land reforms in India. Mention 

the causes behind the failure in the 

implementation of land reforms 

programmes. 12 + 8 

(b) Discuss the features of India's tax structure 

and point out its defects. 10 + 10 

(c) Discuss the system of allocation of 

revenues between the Central Government 

and State Governments in India.   

(d) Discuss the application of credit control 

policies of the Reserve Bank of India. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the role of deficit financing policy 

in India. Evaluate its adverse effects upon 

Indian economy. 8 + 4 

(b) Discuss the aims and objectives of Five-

Year Plans in India and mention the 

reasons behind their gradual changes. 

  8 + 4  

(c) How can the policies implemented by the 

World Trade Organisation influence Indian 

economy ? Mention, in this context, the 

favourable and adverse effects of such 

policies. 4 + 4 + 4  

(d) Discuss how the decentralised economic 

development programme is occurring in 

India by means of the system of Panchayati 

Raj.  

(e) Mention the features of the Industrial 

Policy as announced by the Government of 

India in 1991 and evaluate these. 8 + 4   

(f) Discuss the measures adopted for capital 

market reforms in India. 

3. Answer any four questions  : 6 × 4 = 24 

(a) Mention the different estimates of 

measurement of poverty in India.  

(b) Mention the relation between the size of 

farm and marketable surplus in India.  
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(c) Mention the causes behind slow progress of 

export promotion in India. 

(d) What are the advantages and 

disadvantages of convertibility of Indian 

currency in capital account ? 

(e) Mention the causes behind failure of     

Five-Year Plans in India. 

(f) Discuss the problems of public sector 

enterprises of India.  

(g) Mention, in brief, the Second Five-Year 

Plan model of India and evaluate it.  

(h) Mention the features of the New 

Agricultural strategy adopted for green 

revolution in India. 

    


